Y= 52900

y=-52800

y=-52700

00126 =X
00676 =X

S=1/500

i

u

AR

1A

fﬁmﬁﬂ#\\ |
i Co

BI(=10m /5 LEL.0n

s LN L L L L = L =
: . A T 5 ?
T AT T et

L

i

T e e e

) LA LA L L L JRRI L L L B

L(600*600*700)

J(600*600*600)

- A -
o a0 of 1 - : \ (600" 600" 600)
4o, L

006T6 =X

008T6 =X

Y=-52900

+ Y= 52800

¥ 52700

30-A95D

S=1/500




3700m

0001344x2

40m VCR=
0.

80 °0-07L T8THd

080 °0-G2L T8THd

{ se6 TvT
000 0PT

=1/

1/100 H

\




AS(13) t=5cm

5-NO. 3(

GH=181.00(

FH=181.56(

RC-30(40)

CBR8 %

FH181. 108

AS(13)

t=5cm

FH181. 52

AS(13) t=3cm

RC-30

t=10cm

M- 30

t=10cm

RC-30

t=10cm

t=70cm(

)

FH181. 128

AS(13) t=5cm

M-30 t=10cm

RC-30

t=70cm




S=1/100

8

FH-180. 988

5-EC1

GH=180. 86
FH=181.40

i=0.972%

REI81. 38 i FrE18L 40
1 i=1.l500i=1.50%
- -

(5-BC1)

5-BP(NO.0)
GH=180.85
181.38

(5-BP

5. NO. 1)

29




S=1/100

(5-SP2)
5-NO.3
181.00
181.56

FH181. 50

i=2.

. 1=1.50%i=1.50%

] s
— - - M
RE181. 108 L.

5- NO. 2
(5-BC2)
GH=180.97
FH=181.50

FH-181. 048

|
|
i=1.l500%i=1.50%

2
g FH181. 46

5- KA1

GH=180. 94
FH=181.47

FH181. 41

FH181, 018

i FrE18L 43
‘
__':1“50%|:1‘50%}7

8

(5- KA1

5- NO. 3)

29




S=1/100

FH-181. 62 92 FH:181. 64

;:1 I —- - 1
W FHEIBL 228 / = — Frelsy. 208

5-BC3(5-EC2)
GH=181.08
FH=181.64

FH181. 58

i=1.l50%i=1.150%

0l =200

T FH-181. 188

5- NO. 4

GH=181.09
181.62

FH181. 56 FH-181. 58

=1.150%1i=1.50%

FH-181. 168

(5-NO.4 5-NO.5)

29




(5-EC3)
5-NO. 7

181.39

S=1/100 Gﬁl_sg

I
FHELB1. 53 FH-181. 55
|

5-NO. 6

GH=181.27
FH=181.69

REgLE
2

i=2.
[
L em 1

FHE181. 238 =

5- SP3

GH=181.20
181.70

N FrEI8L 66
o

2 i=2;0 |:1.‘50%|:1.50%

= -

L 1
FH-181. 248 ﬂ

(5-SP3 5-NO. 7)

29




S=1/100

5-EP(NO. 8)
GH=181.43
181. 43

FH181. 37 FH181 39‘

1 . |
L aw | 4 i
FH180. 978 B T FFél&O. 998




(B300*H300)

420

60 3006

S=1/20

( )

(B300*H300)

8-8-40B8B)

(18-8-40BB)

(RC-40,t=10cm)

100,,120 200

(1:3)

(RC-40,t=10cm)

(9300)

$=1/20

400

b0 3005

(B300*HZ00-400)

420

60 3006

S=1/2

( )

(B300*H400)

(1:3)

0

(RC-40,t=15cm)

FH=181.43

520

110 300

DI
B
el

-B300*H300)

S=1/20

(T-25 )

-B300*H300)

(18-8-4088)

8-8-40BB)

(RC-40,t=10cm)

=
B
2,

100,,120 200 _,

(1:3)

(RC-40,t=100m) c—r—u
A- A B-B

(RC-40,t=10cm)

(1:3)

(RC-40,t=10cm)

(B400*H1200)

S=1/20

( )

(B400*H1200)

(18-8-4088B)

(18-8-40BB)

(RC-40,t=10cm)




D(600*600*600) E(600*600*600)

S=1/20 §=1/20

C(600*600*600)

$=1/20

A(600*600*600) B(600*600*600)

S=1/20 S=1/120

(600*600,T-25

(600*600, T-25

8-8-40BB)

(600*600, T-25

(18-8-40BB)

FH=181.028

(RC-40,t=15cm)

F(600*600*600)

S=1/20

(600*600, T-25

(18-8-40BB)

(RC-40,t=15¢cm)

FH=181 44

(600600, T-25

8-8-40BB)

(600*600,T-25

18-8-40BB)

FH=181.048

(RC-40,t=15cm)

G(600*600*600)

S=1/20

(6007600,

(18-8-40BB)

(600%600,

FH=181.37

(18-8-40BB)

C-40,t=15¢cm)

(600*600, T-25

(18-8-40BB)

FH=181 52

(600*600, T-25

18-8-40BB)

(RC-40,t=15cm)

H(600*600*600)

S=1/20

(600*600,T7-25,

(18-8-40BB)

(600*600, T-25,

FH=181.65

(18-8-40BB)

(RC-40,t=15cm)

FHz181 54

(600*600, T-25

(18-8-40BB)

(600*6007T-25

(¥8-8-4088)

FH=181.148

(RC-40,t=15¢cm)

1 (600*600*600)

S=1/20

(600*600, T-25,

(18-8-4088)

(600*600, T-25,

FH=181.66

(18-8-40BB)

FH=181.268

(RC-40,t=15cm)

FH=181 61

FH=181.218

J(600%600*600)

S=1/20

FH=181.63

(600*600,T-25,

(18-8-40BB)

(600*600, T-25,

(18-8-40BB)

FH=181.238

(18-8-40BB)

(600*600, T-25

(18-8-40BB)

-40,t=15¢cm)




M(600*600*750) N(800*800*1400) 0(800*800*1500)
S=1/20 S=1/20

K(600*600*600) L(600*600*700)
S=1/20

S=1/20

(800*800,

(800%800,
(18-8-408BB)

(600*600,T-25,
18-8-40BB)

(600600, T-25,

(600*600, T-25,

8-8-40BB)

8-8-40BB)

/

(800*800,

(600*600, T-25,

(8007800,
(18-8-40BB)

(600*600,T-25,
18-8-40BB)

(18-8-40BB)
FH=181.36

(600600, T-25,
~8-40BB)
FH=181)\43,

(18-8-40BB) 18
FH=181.39
] ]
FH=181.34
—
- I
8

FH=180.948

=)
FH=180)
FH=180.86
=
FH2180.94 FH=180.948
= ——
S
8

FH=180.89

FH=181.208

s
B|FH=180FAs18

=
FH=180.15

(RC-40,t=15cm)

(RC-40,t=15cm)

(RC-40,t=20cm)

(RC-40,t=20cm)

0

(RC-40,t=15¢cm)




